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VE{I e ouT IN GR HC NET
= Il S 37 41 78 g 70
EERE \LE E= “e 43 87 15.4 71.6
3 TTREHF 40 45 85 13.2 71.8
HiI R EE 42 45 87 15 72
sfif mE OE— 44 45 89 15 74
&z AFEEHER “e 45 89 14.9 74.1
74z FE E— 45 44 go 14.4 74.6

BG £l B 37 41 78
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FEL 2T ouT IN GR HC MET
=k EIl HS 37 41 78 8 70
EER \WE EZE 44 43 87 15.4 71.6
3fif TTREHT 40 45 85 13.2 71.8
i P EE 42 45 87 15 72
sfiL ¥ B 44 45 89 15 74
6fif AFEHER 44 45 8o 14.9 74.1
74 FE E— 45 44 89 14.4 74.6

BG ENl EE 37 41 78
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EH 5IE FES 42 40 82 13 69
HER B BEF 41 44 85 13 72
31 AT KR 43 45 88 15 73
AL b 44 41 85 11.9 73.1
Sz AN #2ER 42 42 84 10.7 73.3
efi WT EAl 44 42 86 12.3 73.7
74 aBH B 42 47 89 14 75

BG SIH8  #65 42 40 82
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=k Hl &F 46 - ap 19 71
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5{il Bl == 48 50 23 22 76
&fi HEEXRL 47 52 99 22 77
7L Hll IER 46 49 a5 17.2 77.8
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EEE EF EE— 46 49 95 15 80
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4] Al BE 44 45 89 6 83
51 FAR X 52 46 o8 13.5 84.5
6{i L Es 45 46 91 6.1 84,9
7{i Sl =T 49 49 o8 12 86
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Eis | E— 43 42 85 15 70
EEE =E = 44 43 87 14 73
3 TR F*X 40 47 87 12.6 73.4
HiL T Rl 42 45 a7 132 74
il EE & 45 44 20 15.4 74.6
ofil BE EF 39 41 80 5 75
74 [z G 38 45 82 6.7 76.3

BG BE EFE 39 41 80
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B =i FFER 41 43 g4 17 67
£EB E —= 42 44 86 18 68
3fiL EAR Ak 45 50 95 23 72
HiL 2k BSs 42 47 89 16.8 72.2
Sfi AE EEER 51 49 100 27.8 72.2
64iL E &= 48 Lo 92 19.5 72.5
7L itz 49 51 100 27.5 72.5

BG Hif FFER 41 43 84
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B B 7 38 37 75 9 66
EEE aE £ 43 36 72 12 67
3 HEHE =7 41 43 g4 14 70
HiL F= E 43 41 g4 13.7 70.3
st I EF 40 43 83 12.4 70.6
efir w®Il ThER 42 43 g5 14.4 70.6
74iL TE = 42 43 g5 12.0 71.1
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=k Bl = 40 44 84 18 66
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efif EHF =EX 47 54 101 29.1 71.8
7HiL Bl = 50 51 101 28 73
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B afF i 40 45 85 13 72
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3 =2E &% 42 47 go 15.6 73.4
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Sfi iEl &3 44 45 89 14 75
6fi AL A 42 44 26 10 76
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